Writing

WRITING

WRITING TASK 1

You should spend about 20 minutes on this task.

The graph below shows the proportion of the population aged 65 and over
berween 1940 and 2040 in three different countries.

Summarise the information by selecting and reporting the main features,
and make comparisons where relevant.

Write at least 150 words.
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Test I

WRITING TASK 2
You should spend about 40 minutes on this task.
Write about the following topic:

Universities should accept equal numbers of male and female students in
every subject.

To what extent do you agree or disagree?
Give reasons for your answer and include an}* relevant examples from your own knowledge

Or experience.

Write at least 250 words.
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Model and sample answers for Writing
tasks

TEST 1, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Muodel and sample answers for Writing tasks

TEST 1, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by 2 candidate who achicved a Band 4 score. Here is the examiner’s
comment:

it is difficult to find the main argumentis in this answer. There are fong, formulaic introductions,
not many ideas that deal with the actual issues and the writer's point of view is not consistent.
The prompt is copied directly three times in the response and the remainder is underlength at
181 words, so marks are lost for this,

The response is organised into sections, but the relationship between ideas is not always
clear and the linking expresslons are sometimes Inaccurate, as in the opening paragraph, or
used in a mechanical way, as In the second paragraph.

The dependence on formulaic language and the input material indicates a limited range of
vocabulary and there is a lot of repetition and inaccuracy. A range of structures is attempted,
but control is weak. Errors in grammar and punctuation are frequent and cause problems for the
reader.

According To universities should accept equal numbers of male and
female sfudents in every sublect Therefore, this essay will show some
veasons of argument for and avgument agamst

Fastly, T will discuss about two reasens of argument for to begin
with unversities should accepT equal numbers of male and female
students n every sublect because it will be balonce of dea while
studying. In gereval, theve usually ave different deas between mon
oncdk weman. These lead to, new ‘deas frem different vision will happen.
Arcther veason s i display That have equal of sociefy net eccept
each side. In oddition, nowadaus, the mest societies become to accept
obility of both w any way,

Secondly, I will discuss obeu® one veasen of argument agoinst that
s some sublects not suiable for each other. For example, some subiect
of sporTs such as weight putting. It is net suitable for female
becouse theve ove diffevent of body befieen mole and female

In conclusion, T ogree with universities should accept egual numbers
of male and female students n every subiect. Moreover, it depen on
what the sublects that The students woant fe study, They con choose
by themselve becouse T beleve that ¥ the students lie To sTudy
ther sublecTs, they will do it well so That I strongly ogqree with s
Top\c.‘..
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